
Ԧ𝑣𝐶𝑀 = Ԧ𝑟 × 𝜔 → Ԧ𝑎𝐶𝑀= Ԧ𝑟 × Ԧ𝛼

𝑚 Ԧ𝑎𝐶𝑀 = Ԧ𝐹 − Ԧ𝑓

𝐼𝐶𝑀 Ԧ𝛼 =
1

2
𝑚𝑟2 Ԧ𝛼 = Ԧ𝑟 × Ԧ𝑓
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𝑎𝐶𝑀 = 𝑟𝛼
𝑚 𝑎𝐶𝑀 = 𝐹 − 𝑓
1

2
𝑚𝑟2𝛼 = 𝑟𝑓

𝛼 = 14 𝑟𝑎𝑑/𝑠2

𝑎𝐶𝑀=
2

3

𝐹

𝑚
= 2,8 𝑚/𝑠2
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2
𝑚 𝑎𝐶𝑀 = 𝑓 = 7𝑁

7 𝑁 = 𝑓 < 𝜇𝑠𝑅 = 𝜇𝑠𝑚𝑔 = 14,7 𝑁

Condizione di non scivolamento soddisfatta
Problema 39
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2𝑟𝑓1 = 𝑀 = 𝐼𝛼 =
3

2
𝑚𝑟2𝛼 → 𝑀 = 4,2 𝑁𝑚 → 𝑓1 = 10,5 𝑁

Stesso  di prima

𝑚 𝑎𝐶𝑀 = 𝑓2 = 14 𝑁

14 𝑁 = 𝑓2 < 𝜇𝑠𝑅 = 𝜇𝑠𝑚𝑔 = 14,7 𝑁

Condizione di non scivolamento soddisfatta


